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Year 3 KO Reference m

Choose and use appropriate operations and efficient calculation strategies to solve problems, explaining how the problem was solved.
12. What sign does each ( stand for?



24 ( 6 = 18


14 ( 2 = 7

24. A tricycle has 3 wheels. How many wheels do 4 tricycles have altogether?

Key Words

Sign, add/plus/take away/subtract/minus/multiplied by/times/divided by/shared by, equals, is the same as.

Key Questions

How did you decide which operation to use? 

Are there any clues in the question?

Practical Activities

· Use of the whiteboards/digit cards to provide the sums as above. The pupils can swap the * for a sign; is the sum correct?

· Revise number facts for 10 and 20 ( e.g. 7 + 3 = 10, 10 – 7 = 3).

· Revise number facts for 100 (e.g. 70 + 30 = 100, 100 – 70 = 30).
· Write some sums on the board, for example; 8 * 2 = 16, 15 * 5 = 20. What operation do we need to carry out? Which sign has to go in the place of the *? Ask the pupils to explain/justify their answers.
· Use the numbers 5 and 10. Which operation will give the largest answer? What is the number sentence? Which operation will give the smallest whole number? What is the number sentence? Repeat with other numbers.
· Role play based on practical problems & everyday word problems.
· Talking Partners exercise for predicting the correct operation.
· Role play activities using money.
Encourage the pupils to check their work.
Written Activities

Worksheets to link with the above practical activities.
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Use of word problems – Five children get on a bus. There are already 13 children on the bus. How many children are there on the bus now? Discuss how to solve the problem. Discuss how to write this as a sum. Repeat for other problems (use addition/subtraction/division/multiplication). N.B. Also use word problems with money.

Worksheets to include the following questions; 

Which operation (+ or -) should go in the box to make the number sentence right?

Which operation (+ - x or ÷) should go in the box to make the number sentence right?

Pencils cost 5p. How much will 6 pencils cost?

Complete the following number sentences; (for example; 5 x _ = 45)

Make up number sentences. Use the numbers 3, 4, 9 and 12 only.
IT

http://www.bgfl.org/bgfl/custom/resources_ftp/client_ftp/ks2/maths/weigh/free.htm
http://www.crick.northants.sch.uk/assets/Flash%20Studio/cfsmaths/NumBal/nbKS2.swf
http://www.crick.northants.sch.uk/assets/Flash%20Studio/cfsmaths/Simple%20Scales/simplescales2.swf
http://www.interactive-resources.co.uk/ :
 Maths Packs 2 & 3
BBC Megamaths Problem Solving video available from Library Services.

NNS ITP : ‘Measuring cylinder’, ‘Measuring scales’ and ‘Tell the time’

Games

Card Game; Matching – sums and answers. Role play games.

Home activities/Homework

Worksheet to link with the above; possibly asking pupils to devise their own word problems/sums/answers.
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For example:


 50  (   20 = 30


 


  6   (    2  = 3
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